8

7 6 v 4 3 2 ) 1
NOTES: (UNLESS OTHERWISE SPECIFIED) REVISIONS
17 RATED DESIGN LOAD +48/-52 PSF. ER REV DESCRIPTION DATE APVL
2. SECTION HEIGHTS MAY VARY TO CREATE VARIOUS DOOR HEIGHTS, 20.8" MAXIMUM SECTION HEIGHT.
3. MINIMUM 1" OVERLAP ON BOTH JAMBS REQUIRED TO MEET NEGATIVE DESIGN PRESSURES. 32537 | A |ADD NOTE 18: lBC/ IRC 11/ 30/ 20 Q
4. TESTED IN ACCORDANCE WITH DADE COUNTY PROTOCOLS TAS 201—94, TAS 20294, & TAS 203—94. ——|-|—1 " OVERLAP 1” OVERLAP
5. DOOR SKIN MUST BE 25,000 PS| MIN. YIELD STRENGTH.
6 JAMB LOAD CALCULATIONS: 7T —T3 T3 — T ~—T 5 —T 3
(1/2 DOOR WIDTH)(1 FT OF HEIGHT)(DESIGN PRESSURE) C J
(8.067)(1 FOOT)Y46.00 AND —52.00)(371.1/-415.5) L. 6GA X 3" ENDSTILES ATTACHED 20GA X 3" CENTER STILES
7. JAMB FASTENER REQUIREMENTS: TO THE DOOR WITH ADHESIVE ATTACHED TO THE DOOR WITH DOOR JAMB
F,=(1/2 DOOR WIDTH)(1 FT OF HEIGHT)(DESIGN PRESSURE) AND (4) 8-15X9/16" SCREWS egsgvsvlsVE AND (4) 8-15X9/16"
F, =371 LBS.
8. DOOR SKIN MATERIAL SHALL BE GALVANIZED ACCORDING TO ASTM A—525 TO GSO MIN, WITH BAKED—ON PRIMER, AND BAKED—ON POLYESTER PAINT TOP COAT.
9. FOR ANCHORING INTO WOOD,USE ONE 5/16" LAG SCREW PER JAMB BRACKET WITH 1—1/2" EMBEDMENT INTO SOUTHERN PINE (G=0.55) OR BETTER. SECTION A—A
10. APPROVED INSULATED AND NON—INSULATED: 8000 (25GA), 8100 (25GA), 8200 (25GA), 0.0209" MIN STEEL. SCALE 1 : 12
1. WELD SLOT ON ANGLE AND 3/32" X 1" LONG ON 12° CENTERS. “IF WELDING MOUNTING OPTION IS CHOSEN.”
12. LIFT UP MECHANISM—MANUAL, CHAIN LIFT, OR OPERATOR IS NOT PART OF THIS APPROVAL.
13. STANDARD LIFT, HIGH LIFT, VERTICAL LIFT, AND LOW HEADROOM TRACK IS AVAILABLE. FOR LOW HEADROOM LIFT CONDITIONS TOP BRACKET SHALL BE 13 GA LHR 7/4 TOP
BRACKET WITH A MIN OF (3) 1/4 — 14 X 7/8" SELF DRILLING CRIMPTITE SCREWS IN LIEU OF THE BRACKET SHOWN ON DRAWING. U—BAR ON TOP SECTION SHALL BE INSTALLED ON TOP
OF LHR TOP BRACKETS. ] STEEL SECTION SKIN
14. ATTACH STRUTS WITH (2) 1/4—14x7/8" SELF DRILLING CRIMPTITE SCREWS AT ALL STILE LOCATIONS, TYP. LOCATED WITHIN 6" , +/— 3" FROM TOP OF SECTION. 2" TRACK ANGLE
15. KEY LOCK, SLIDE LOCK, OR DRAWBAR OPERATOR REQUIRED. ETAINER
16. IMPACT RESISTANT GLAZING OPTION— IMPACT RESISTANT GLAZING SYSTEM MAY BE INSTALLED INTERMEDIATE SECTION OR TOP SECTION. GLAZING SHALL BE 1/4” POLYCARBONATE. 13-3/4" X WEATHERSEAL
20-1/8" MAXIMUM SIZE, FASTENED WITH # 8 X 1" SMS: 3X MIN ALONG THE HORIZONTAL AND 2X MIN ALONG THE VERTICAL. SEE DETAIL F—F ON SHEET 2 FOR ASSEMBLY DETAILS. (ASTRAGAL)
17. THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS SHALL BE THE RESPONSIBILITY OF THE PROFESSIONAL OF RECORD FOR THE BUILDING OR STRUCTURE AND IN
ACCORDANCE WITH CURRENT BUILDING CODES FOR THE LOADS LISTED ON THIS DRAWING. SECTION D-D DETAIL B
18. DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH REGULATIONS PER BUILDING CODES: 2018 IRC AND 2018 IBC. SCALE 1 : 4 SCALE 1 : 4
ND BEARING BRACKET, STANDARD LIFT
| SHOWN, LOW HEADROOM CLEARANCE
NON—INSULATION —l) 2.00 AVAILABLE ( SEE TRACK DETAILS ON SHEET 3) ABLE DRUM SHAFT
TORSION SPRING COUNTERBALANCE
14 GAUGE 1.00 / i G - »
800 ORONTAL TRACK | L : SR :
> [ 2.875{ | |
= 8.25 |
17.025 14125 |
30 GAUGE STEEL COVER SHEET | I | H/— TOP FIXTURE
OPTIONAL %l I
INSULATION ﬂ\\M\k\k\k\ﬂm D 200 g g )] 18] - -
: S —( 3 kY " " 5 ,:, . 15" MAX 0.
20.80 15" MAX (TOP TRACK CLIPS ONLY) ) AN : : : Aelll ) (TP O?LY)
SECTION C—C \—1 PCF EXPLANDED L 1 1 1
SCALE 1 : 4 POLYSTYRENE (EPS) 1 — 3 =
P12 Max e R S —T B = = = : - A3 | T
P L[] 8] 18] 18 8] 8 8 18] _
! 16GA END STILE | L N N A y " 5 "
s R 206A center sile——[['|° [ ‘o 3 ks R H H H B 12"
12" MAX — 3
b OPTIONAL GLAZING ———]
MAX 1 WINDOW PER 3 3 -
I!l% ‘ STAMPED PANEL AT ma N N ™ . na Xp ™ YN
I (ONE ROW ONLY) 12"
T bl 9 5 8]
p:‘,E...f.IE* SLIDE LOCK . EX E H B
""o . JAMB BRACKET : : 12"
” ) PLACEMENT VARIES 12" MAX END HINGE
Fus L *" ON DOOR HEIGHT —~_| i: 5 'S _
P ek ol ; i 17, na i
] JOHN E. SCATES / 13 GAUGE 2" MAX ROLLER Tl o o 9 o o 5 sl
l.. ; VERTICAL TRACKE ] Bl B B B s o s o -
/RITITITRRR IR OPP PO 3* STRUT BOTTOM AND 3RD
l'4'. 56308 Q- : 55 SECTION ONLY 3" X 18GA—— ; Y 10"
2" & 2 . . . . . . 1
Vo, o BOTTOM FIXTURE K .
l‘K‘((\S(/CENse \k\;' ! 1
‘\\S/o'i\ij_{\'_ E“\. 5] JAMB BRACKET | 16'2" MAX WIDTH ,
A TR UNLESS QTHERWISE SPECIFIED APPROVALS DATE wayne
THIRD ANGLE PROJECTION INTERPRET DIMS & TOLS TOLER;(& By (D:EQ(V:VKNED DG-ESQETSH ;—1118—12% Dalton. PENSACOLA, FLORIDA
PER ASME Y14.5M . = . . —18— lGARAGE DOORS
ALL DIMS ARE IN XX = .03 APPROVED - - DESCRIPTION
JOHN E. SCATES, PE INCHES ANéL‘)&R = 1-21_ MATERIAL - 8000,/8100/8200 16'2" MAX WIDTH
2560 KING ARTHUR BLVD #124—-54 HOLES: - = FINISH —
LEWISVILLE, TX 75056 A DIVISION OF OVERHEAD DO NOT SCALE —°—<-g 251 y
[ H , , . =4.004/-.003 WINDLOAD SPECIFICATION SIZE |IDWG NO. REV
Digitally signed by John E. Scates, P.E. FL PE 51737 TX PE 56308/F2203 DOOR CORP DIMS CIRCLED WITH SYMBOL - _
g y sig y S 3395 ADDISON DRIVE ARE CRITICAL TO QUALITY DESIGN ¢-251> g-ggg =+.006/~.003 OPTION CODE 1128 D D—365183 A
Date: 2020.11.30 17:29:29 -06'00 PROFESSIONAL ENGINEER’S SEAL PROVIDED ONLY FOR PENSACOLA, FLORIDA 32514 | FEATURES & MUST MEET APPLICABLE -500 =+.008/-.003
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. (850)—474—9890 IN—PROCESS INSPECTION STANDARDS.|ALL GEOMETRY GOVERNED BY 3D CAD DATABASE: SCALE 1:12 [ UOM = EA | SHEET 1 OF 4
T T T T

8
ENG F.20.041D—(FORM REV A)

7 6

¥ :

4

3 2

1



John
TX PE Box


8
1

NOTES:

(UNLESS OTHERWISE SPECIFIED)

2 X6

5/16" X 1-5/8" LAG SCREW INTO MIN.

DOOR ELEVATION ON SHEET 1 FOR
HOLE LOCATIONS)

<—>’72.75" EDGE DISTANCE

3/8" X 3" LAG SCREW, WMITH 1-1/8"
WASHER, MAX OF 18" 0.C., MIN

2-3/4" EDCE D\STANC%\
3 SP (6=0.55)

OR BETTER:

ﬁ G=0.55
/7

2 X6

WOOD MOUNTED TO #3 SOUTHERN PINE SUBSTRATE

X 6 #3 P (6=0.55)
2R el

#3 SP (G=0.55) OR BETTER. ( SEE

16 GA JAMB BRACKET/

MOUNTING TO WOOD JAMB
DETAIL

/4-20 X 9/16
TRACK BOLT 'AND
1/4-20 HEX NUT

‘—T2.75 +1” EDGE DISTANCE

3/8" DIA. SIMPSON TITEN HD
FASTENER, MAX. OF 15°0.C., 2—3/4"
MIN EMBED'INTO MIN. 1500 PSi GROUT
FILLED CMU, MIN 4" EDGE DISTANCE

14GA BOTTOM FIXTURE
ATTACHED TO SECTION
WITH(4) 1/4-14 X 7/8" S

(10) #8 x 17

#
SHEETMETAL SCREW

/DAYUGHT OPENING=9 3/4"X15 7/8"

GLASS BITE 0.57

INTERIOR FRAME
6063-T6 ALUMINUM

\T /4" POLYCARBONATE

EXTERIOR FRAME
6063 —T6 ALUMINUM

™N__0oor secTion
WINDOW DETAIL

SECTION F - F

SCALE 1 : 4
=SS OR AN
T EOF TE “\
PO N
P ),
* Ry
/ JOHNE.SCATES
b T4
238 g «/,
.i‘OK‘@' </CENsao c}@i’:
\\Y/ONAL BN
AN S S

4" EDGE DISTANCE

/\

7

%

Z

1-1/8" 0.D. WASHER—/

WOOD MOUNTED TO GROUT FILLED

MASONRY BLOCK

DETAIL

\2 X 6 #3 SP (G=0.55) OR BETTER/V

WOOD MOUNTED TO 2500PSI

4” EDGE DISTANCE

CONCRETE DETAIL

r:ﬁ" EDGE DISTANCE

1-1/8" 0.D. WASHER

ﬁS/S DIA. SIMPSON TITEN HD FASTENER, MAX. OF
24" 0.C., 2—3/4” MIN EMBED INTO MIN 2500 PSI
CONCRETE MIN. 3” EDGE DISTANCE

EDGE DISTANCE

3 ANCHOR OPTIONS:
T.P 3/8” DIA. SIMPSON TITEN HD FASTENER, 2—3/4
2 ANCHOR OPTIONS: MIN."EMBED INTO MIN 2500PSI CONCRETE, MIN. | g
1.)3/8” DIA. SIMPSON TITEN HD FASTENER, 2—3/4” 3" EDGE DISTANCE
3/3N_1-12 /M\)N /EMBED INTO MIN. 1500PSI GRQUT FILLED / 2.) 3/8” DIA. HILTI KWIK BOLT 3, EXPANSION
CMU, MIN. 4" EDGE DISTANCE ANCHOR. 2-1/2" MIN. EMBED, MIN. 4" EDGE
MIN 3/16" THICK STEEL 2.) 3/8" DIA. HILTI KWIK BOLT 3, EXPANSION )
5 0 » .) 3/8" DIA. POWER LOK/BOLT, EXPANSION
FOR MOUNTING ANCHOR, 2 1/2" MIN. EMBED, MIN. 4" EDGE AFECH(/)R, ey iving EME{ED’ R
N DISTANCE
13 GA CONT.
WALL ANGLE
TRACK CLIP \
OPTIONAL: WALL ANGLE MAY BE
1/4-20 X 9/16” ATTACHED TO SUPPORTING STEEL WITH W /\ ANCHOR / L
TRACK BOLT ANL/ A MIN. (1) 1/4-14 X 1” SELF DRILLING ANCHOR 1" 0.D. WASHER *(SEE DOOR ELEVATION ON SHEET 1
1/4-20 HEX NU SCREW WITH 1" 0.D. WASHER IN LIEU FOR HOLE LOCATIONS)
OF WELDING. ( SEE DOOR ELEVATION 1" 0.D. WASHER X
ON SHEET 1 éOR HOLE LOCATIONS) FgSREEHgE’EORLOECLHéE%N ON SHEET 1
MOUNTING TO STEEL JAMB MOUNTING TO 2500PSI CONCRETE
DETAIL MOUNTING TO GROUT FILLED MASONRY DETAIL b
BLOCK DETAIL
SECTION E — E
SCALE 1 : 4
12GA EXTENSION BRACKET 13GA MIN. WIDE BODY END HINGES.
DRIUNG érmprTe doRene - ég[?CDHRE\EU\QWGTCHR\ﬁ%ﬂ(gﬁ%ﬁgﬁg/BH #1 END HINGE IS 14GA.
X,FGF?AJEPBEK&EE COMMERCIAL 13GA ROLLER SLIDE ATTACHED TO TOP e
S S FIXTURE WITH 1/4—18 BOLT AND NUT IN CENTER HINGE ATTACHED WITH (6) 1/4 14 x 7/8"
G e o][0 0o SLOT AND 1/4—20 X 9/16” TRACK BOLT AND SELF DRILLING CRIMPTITE SCRE
el é oy il =] 1/4—20 HEX NUT THROUGH ALIGNING HOLES (2) OF WHICH ARE IN-BOARD
[ \ I UE Us® = =
°g° ~ 7/16” DIA. STEM TOP AND BOTTOM ROLLERS o gt g °
N
: [§] o ) o C
14GA INTERMEDIATE HINGE — — o o
ATTACHED WITH (4) 1/4-14 X 7/8” p 2
SELF DRILLING CRIMPTITE SCREWS
DETAIL K DETAIL J i DETAIL K
SCALE 1: 4 SCALE 1: 4 DETAIL H SCALE 1 : 4
SCALE 1 : 4
OPTIONAL WALL ANGLE TRACK
TRACK
13GA MIN
/ CONTINUOUS 13GA MIN 1C%JGNAWQAL‘J%US TRACK
WALL ANGLE TRACK CONTINUOUS TRACK WALL ANGLE
5 WALL ANGLE
o) O
—1/4-20 TRACK OR D 11GA MIN TRACK
CARRIAGE BOLT 11GA MIN TRACK 11GA MIN TRACK
Z ’CDMj/ WITH 1/4-20 NUT /" CUP SEE SCHEDULE /" CLP SEE SCHEDULE CUP SEE SCHEDULE
) ' —(2) 1/4-20 TRACK OR © B
Cﬂ:@é EI/QRRC&GE BOLT WITH 1 © =t ) %‘Eﬁ&g?&ﬁ i 1/4-20 TRACK OR 8
1/4-20 NUT 1/4-20 NUT CARRIAGE BOLT WITH
© E‘@ 1/4-20 NUT
16GA STIFFENED
JAMB BRACKET RSW 33
(2) 1/4x7 /16 SEMI o (2) 1/4-20x9/16 TRACK < 2
TUBULAR RIVET BOLT AND 1/4—20 HEX NUT
TYPICAL TRACK AND JAMB FASTENERS DETAIL L
TYPICAL TRACK CLIP RIVETING DETAIL TYPICAL TRACK CLIP_BOLTING DETAIL TYPICAL TRACK CLIP WELDING DETAIL
UNLESS OTHERWISE SPECIFIED wayne
THIRD ANGLE PROJECTION INTERPRET DIMS & TOLS TOLERANCES: APPROVALS DATE Dalton PENSACOLA, FLORIDA
PER ASME Y14.5M X = =1 DRAWN G.CLARK 4—11-19 lGARAGE DOORS
ALL DIMS ARE IN XX = 1+.03 CHECKED D. KORNISH 2-18-20 |DESCRIPTION
JOHN E. SCATES, PE INCHES XXX = imo APPROVED - - 8000,/8100,/8200 16’2 MAX WIDTH A
2560 KING ARTHUR BLVD #124-54 ANCULAR = £.5 MATERTAL =
LEWISVILLE, TX 75056 A DIVISION OF OVERHEAD DO NOT SCALE HOLES: FINISH =
FL PE 51737 TX PE 56308/F2203 DOOR CORP DIMS CIRCLED WITH SYMBOL < ©.251 =+.004/-.003 SIZE [DWG  NO. REV
3395 ADDISON DRIVE ARE CRITICAL TO QUALITY DESICN @25“2-232 j+-006/*-003 WINDLOAD SPECIFICATION 0 D—365183 A
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR PENSACOLA, FLORIDA 32514 | FEATURES & MUST MEET APPLICABLE > @ =+.008/-.003 OPTION CODE 1128
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. (850)—-474-9830 IN—PROCESS INSPECTION STANDARDS. |ALL GEOMETRY GOVERNED BY 3D CAD DATABASE: SCALE 1:12 | UOM = EA | SHEET 2 OF 4

ENG F.20.041D-(FORM REV A)

6

f\ .

" T

3

2


John
TX PE Box


8 ) 7 6 5 4

v 3 2 1
NOTES: (UNLESS OTHERWISE SPECIFIED)
CENTER STILE_AND INTERMEDIATE HINGE | OCATIONS
: D©ﬁ§ %
- ® 8} i 8 3 of ; b == =
! . 2 :
|
16
e : e DOOR HEIGHT «J 75
e B o ©]: | \
: : : H J LOW HEADROOM
. =
L i i i i TRACK DETAIL
1 T 1
’ (8) SECTION DOORS WITH
14'—15’ (8) 4" 16GA 80 KSI U-BARS
(4) 3" 18GA 80 KSI U—-BARS
=i LOCATED AS SHOWN \
¢ 0 19} 19} 19} I91 I91 '@ s i 7) SECTION DOORS WITH
_ o ED EB (B @ EB ol E7g 4" 16GA 80 KSI U-BARS
s i - (4) 3” 18GA 80 KSI U-BARS
N B B B " s . VERTICAL LIFT LOCATED AS SHOWN
N . i i s i 1 TRACK_DETAIL
, (8) SECTION DOGRS WITH
12 ° (6) 4" 16GA 80 KSI U—BARS
(3) 3" 18GA 80 KSI U—BARS
=) LOCATED AS SHOWN
aE ; ; ; ; = H x
S L~ .~ .~ -~ e : 5) SECTION DOORS WITH ¥
B 4®. ROA @ @ @ .®. . Esg 4” 16GA 80 KSI U-BARS
(3) 3" 18GA 80 KSI U—BARS
o s . LOCATED AS SHOWN
— = = — 4) SECTION DOORS WITH
Y . E4§ 4” 16GA 80 KSI U—BARS
¢ =2 (2) 3” 18GA 80 KSI U-BARS
= LOCATED AS SHOWN
10 SR
DOOR HEIGHT
N/
o 4" STRUT MAY OVERLAPS HINGES, ATTACHED
WITH (2) 1/4—14x7/8" SELF DRILLING
- CRIMPTITE SCREWS AT EACH STILE
LOCATION
i
] -.©
_© .
H < < ol
DETAIL N
T —= SCALE 1 : 4
‘ S S . . ";‘
SIREOF TEp Wy
- ,‘P.. bt \ N W N
2o\ Jo ') : o 3" STRUT ATTACHED WITH (2) 1/4—14x7/8
-~ o 2o . SELF DRILLING CRIMPTITE SCREWS AT
P4 o . ' = EACH STILE LOCATION
’ *'.' -.* ' U |
7*; ), DOOR HEIGHT
,lo---co-ovco-c--o-o..-.ocn-oo.uo-' < A STANDARD LH?T
’ JOHNE.SCATES TRACK DETAIL
'n.................-..........:...,’ | HIGH LIFT
l'»%)-,. 56308 48:’ L TRACK DETAIL DETAIL O
Vo N onk-4 =) SCALE 1: 4 STRUT LOCATIONS
(ISR <y, QO .. - .
V&5 CENSEY o, # : SCALE 1: 16
\ \/ONAL A\ g =
\\\\\\‘~ SN UNLESS OTHERWISE SPECIFIED APPROVALS DATE Wayne
DOOR HEIGHT THIRD ANGLE PROJECTION INTERPRET DIMS & TOLS TOLERANCES: DRAWN G.CLARK 4—11-19 Dalton. PENSACOLA, FLORIDA
el @_gr PER ASME Y14.5M X = £ CHECKED D. KORNISH 2-18-20 | FBARAGEDOORS
XX = +.03 APPROVED - ~  DESCRIPTION
ALL DIMS ARE IN _ -
JOHN E. SCATES, PE INCHES KXX = im? MATERIAL - 8000,/8100/8200 16'2” MAX WIDTH
2560 KING ARTHUR BLVD #124—54 ANCULAR = .5 FINISH -
LEWISVILLE, TX 75056 " A DIVISION OF OVERHEAD DO NOT SCALE HOLES:
FL PE 51737 TX PE 56308/F2203 DOOR CORP DIMS CIRCLED WITH symgoL *( )’ @251< g-éé’g =+.004/-.003 WINDLOAD SPECIFICATION size|ows  No. REV
3395 ADDISON DRIVE ARE CRITICAL TO QUALITY DESIGN <207 -2/ =+.006/-.003 OPTION CODE 1128 5 D-365183 A
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR PENSACOLA, FLORIDA 32514 | FEATURES & MUST MEET APPLICABLE > ©.500 =+.008/-.003
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. (850)-474-9890 IN—PROCESS INSPECTION STANDARDS. |ALL GEOMETRY GOVERNED BY 3D CAD DATABASE: SCALE 1:12 | UOM = EA | SHEET 3 OF 4
T

8 7 5 5 t . 4 ‘ 3 2 ‘ 1
ENG F.20.041D—(FORM REV  A)



John
TX PE Box


8
1

NOTES: (UNLESS OTHERWISE SPECIFIED)

TOP FIXTURE ASSY.

1. FOR DIMENSIONS AND NOTE REFERENCES, REFER TO INDIVIDUAL DRAWINGS.

\
>
~
S

1

N
-@-|| 0000000

0000000
—/ D
0000000

BASE TOP FIXTURE

D -
m}
9@

L—LW.QZ

f R.24
3.60 é
—l—te112

ROLLER CARRIER

r2.75*‘
—

LENGTH = DOOR WIDTH —1"————=—

i
2.29

4" STRUT (UBAR

LAr.OOAJ

3” STRUT OPEN WL (UBAR)

LENGTH = DOOR WIDTH —1”

11GA 13GA 80 KSI MIN. YIELD STRENGTH, 4” X 16GA 80 KSI MIN. YIELD STRENGTH, 3" X 18GA
TOP FIXTURE DETAILS STRUT DETAILS
~—2.24+
D ( — _ SECURED WITH (4) SCREWS 1/4-20 X 7/8"
® — * [ ] 538
o 1499 o s \ R.24 6 : 2.34 THROW
; ﬁ } _ R 7.38 of 7.38 5500
L. 1.625 1610 | {
De i2.5ojf a9 | °
ops "D” REF. l
O 0O 0O O
Ll 75 75 oo g -
BOTTOM FIXTURE BRACKET, TOP, RES, LHR .00 x .150" THICK
14 GA 12 GA l—3.29~
#1 _END HINGE / CENTER HINGES END HINGE
14GA 13GA SLIDE_LOCK_ASSY.
BOTTOM FIXTURE DETAILS
HINGE DETAILS LOCK DETAILS
9.36 REF. 9.00 REF. & ]
944 REF | .55 REF. +(]0 )
d 0o
, m{ 1.81 REF. }
| | \ 2.8 REF. HU -
.46 4*
» .—T1 U
7/16” STEEL PUSHNUTS
€
ROLLER ASSY, 2” WL 1144 (STEEL ROLLER) ROLLER ASSY, 3" WL 1144 1807
1.}!5‘\"\'\!\ =)
Py P:---*""--J}Tq‘\ ROLLER STEM ASSY DETAILS (WITH PUSH NUTS)
» D JO0N T4
& N |
* . R 1.94
z): 2 0' 4 REF 9.36 REF. & :
Gt aunusssnmninirsnsintal — R - 2X 8.31 o
7 JOHNE.SCATES i of | a1 e e BRACKET = L
'--...---.ou--n...-.-.-n---.:...” ' ? 16GA B | —— 394—a3
s 56308 ol g B B
i O <, o &l BRACKET DETAILS :
t.»e-.,.g!gng,.-G\', FLAG ANGLE
\\ /ONA\_E - ROLLER ASSY, 2” WL 1144 (NYLON ROLLER)
<pait UNLESS OTHERWISE SPECIFIED APPROVALS __ DATE W
P THIRD ANGLE PROJECTION TOLERANCES: ayne
INTERPRET DIMS & TOLS . DRAWN G.CLARK 4-11-19 Dalton., PENSACOLA, FLORIDA
@_gr PER ASME Y14.5M X = +.1 CHECKED D. KORNISH 2-18—20 | [ARAGEDOORS
XX = +.03 - -
ALL DIMS ARE IN XX = +.010 APPROVED DESCRIPTION .
JOHN E. SCATES, PE INCHES ANGULAR — 45 - MATERIAL - 8000,/8100/8200 16’2" MAX WIDTH
2560 KING ARTHUR BLVD #124—54 _ - FINISH -
LEWISVILLE, TX 75056 A DIVISION OF OVERHEAD DO NOT SCALE HOLES:
FL PE 51737 TX PE 56308,/F2203 DOOR CORP DIMS CIRCLED WITH SYMBOL @2552;8& =+.004/-.003 WINDLOAD SPECIFICATION SIZElDwWG  NO. REV
3395 ADDISON DRIVE ARE CRITICAL TO QUALITY DESTGN | = 7 "= =+.006/-.003 OPTION CODE 1128 5 D-365183 A
PROFESSIONAL ENGINEER'S SEAL PROVIDED ONLY FOR PENSACOLA, FLORIDA 32514 | FEATURES & MUST MEET APPLICABLE > 9 =+.008/-.003
VERIFICATION OF WINDLOAD CONSTRUCTION DETAILS. (850)—474-9890 IN-PROCESS INSPECTION STANDARDS.|ALL GEOMETRY GOVERNED BY 3D CAD DATABASE: SCALE 1:12 | UOM = EA | SHEET 4 oF 4

ENG F.20.041D-(FORM REV A)

7 ‘ 5

f\ A

" T

3

9 T

1



John
TX PE Box


	365183 SERIES 8000, 16'2 MAX WIDE, 46,-52 PSF 1
	365183 SERIES 8000, 16'2 MAX WIDE, 46,-52 PSF 2
	365183 SERIES 8000, 16'2 MAX WIDE, 46,-52 PSF 3
	365183 SERIES 8000, 16'2 MAX WIDE, 46,-52 PSF 4

		2020-11-30T17:28:07-0600
	John E. Scates, P.E.


		2020-11-30T17:28:52-0600
	John E. Scates, P.E.


		2020-11-30T17:29:02-0600
	John E. Scates, P.E.


		2020-11-30T17:29:15-0600
	John E. Scates, P.E.


		2020-11-30T17:29:29-0600
	John E. Scates, P.E.




